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NEW QUESTION 1
Which of the following computing devices would be used to provide a centralized means to distribute services to a group of clients and usually possesses a role on
a LAN?

A. Laptop
B. Workstation
C. Mobile phone
D. Server

Answer: D

NEW QUESTION 2
The sales department needs to keep a customer list that contains names, contact information, and sales
records. This list will need to be edited by multiple people at the same time. Which of the following applications should be used to create this list?

A. Database software
B. Word processing software
C. Conferencing software
D. Presentation software

Answer: A

NEW QUESTION 3
An employee is asked to generate a report on a student information system. The employee uses spreadsheet software and connects to a remote database to pull
data for the report. Which of the following types of
application architectures did the employee use?

A. Standalone application
B. Client-server application
C. Web application
D. Cloud application

Answer: B

NEW QUESTION 4
Which of the following is a compiled language?

A. Perl
B. JScript
C. Java
D. PowerShell

Answer: C

NEW QUESTION 5
A technician is called to replace a display for a workstation. Which of the following would MOST likely be used to connect the display to the workstation?

A. USB
B. NFC
C. DSL
D. DVI

Answer: D

NEW QUESTION 6
Which of the following is the closest to machine language?

A. Scripted languages
B. Compiled languages
C. Query languages
D. Assembly languages

Answer: D

NEW QUESTION 7
A user is attempting to print a document to a wireless printer and receives an error stating the operation could not be completed. Which of the following should the
user do to correct this issue?

A. Ensure both devices are connected to the LAN.
B. Enable task scheduling.
C. Reset the proxy settings to their default values.
D. Review the fault tolerance configurations.

Answer: A
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NEW QUESTION 8
Joe, a developer, is writing a program in which he needs to store a number that changes over the duration of the program’s run. Which of the following would Joe
MOST likely use to accomplish this?

A. Loop
B. Variable
C. Constant
D. Function

Answer: B

NEW QUESTION 9
Which of the following relational database constructs is used to ensure valid values are entered for a column?

A. Schema
B. Permissions
C. Constraint
D. Column

Answer: C

NEW QUESTION 10
Which of the following operating systems do not require extensions on files to execute a program? (Select TWO).

A. Windows 7
B. Windows 8
C. UNIX
D. Windows Server 2012
E. Android
F. Linux

Answer: CF

NEW QUESTION 10
A user is buying a laptop. The user will have a lot of personal and confidential information on the laptop. The user wants to ensure data cannot be accessed by
anyone, even if the laptop is stolen. Which of the following should be set up to accomplish this?

A. Encryption
B. Compression
C. Permissions
D. Auditing

Answer: A

NEW QUESTION 14
A systems administrator uses a program that interacts directly with hardware to manage storage, network, and virtual machines. This program is an example of:

A. a storage area network.
B. an embedded OS.
C. network attached storage.
D. a Type 1 hypervisor.

Answer: D

NEW QUESTION 18
Malware infections are being caused by websites. Which of the following settings will help prevent infections caused by Internet browsing?

A. Turn on private browsing
B. Delete browsing history on program close.
C. Notify when downloads are complete.
D. Configure prompting before downloading content.

Answer: D

NEW QUESTION 21
Joe, a user, finds out his password for a social media site has been compromised. Joe tells a friend that his email and banking accounts are probably also
compromised. Which of the following has Joe MOST likely performed?

A. Password reuse
B. Snooping
C. Social engineering
D. Phishing

Answer: A
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NEW QUESTION 26
A UPS provides protection against:

A. denial of service
B. replay attack.
C. power outages.
D. wiretapping.

Answer: C

NEW QUESTION 27
Which of the following would work BEST stored as a flat file rather than stored in a database?

A. Contact list
B. Movie theater locations
C. Directions to doctor’s office
D. Store inventory

Answer: A

NEW QUESTION 28
Which of the following is MOST likely used to represent international text data?

A. ASCII
B. Octal
C. Hexadecimal
D. Unicode

Answer: D

NEW QUESTION 33
A program needs to choose apples, oranges, or bananas based on an input. Which of the following programming constructs is BEST to use?

A. Variable
B. If
C. Datatype
D. Comment

Answer: B

NEW QUESTION 38
A startup company has created a logo. The company wants to ensure no other entity can use the logo for any purpose. Which of the following should the company
use to BEST protect the logo? (Select TWO).

A. Patent
B. Copyright
C. NDA
D. Trademark
E. EULA

Answer: BD

NEW QUESTION 39
Which of the following allows wireless devices to communicate to a wired network?

A. Modem
B. Switch
C. Firewall
D. Access point

Answer: D

NEW QUESTION 40
A database administrator finds that a table is not needed in a relational database. Which of the following commands is used to completely remove the table and its
data?

A. UPDATE
B. DELETE
C. ALTER
D. DROP

Answer: D

NEW QUESTION 44
A desktop administrator just connected a printer to a workstation, but the workstation does not recognize the printer. Which of the following does the workstation
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MOST likely need for the printer to function?

A. Permission
B. Ink cartridge
C. USB cable
D. Driver

Answer: D

NEW QUESTION 48
Which of the following database concepts would MOST likely use a CSV file?

A. Data querying
B. Data reports
C. Data importing
D. Data persistence

Answer: B

NEW QUESTION 49
A systems administrator wants to return results for a time range within a database. Which of the following commands should the administrator use?

A. SELECT
B. INSERT
C. DELETE
D. UPDATE

Answer: A

NEW QUESTION 51
A function is BEST used for enabling programs to:

A. hold a list of numbers.
B. be divided into reusable components.
C. define needed constant values.
D. define variables to hold different values.

Answer: D

NEW QUESTION 56

The IT department has established a new password policy for employees. Specifically, the policy reads: 

Passwords must not contain common dictionary words
 Passwords must contain at least one special character.
 Passwords must be different from the las six passwords used.
 Passwords must use at least one capital letter or number.
Which of the following practices are being employed? (Select TWO).

A. Password lockout
B. Password complexity
C. Password expiration
D. Passwords history
E. Password length
F. Password age

Answer: BD

NEW QUESTION 61
Given the following pseudocode:
If the Breakfast program ran on Sunday, which of the following would be the output?

A. Oatmeal
B. Bacon and eggs
C. Waffles
D. Pancakes

Answer: C

NEW QUESTION 64
A game developer is purchasing a computing device to develop a game and recognizes the game engine software will require a device with high-end
specifications that can be upgraded. Which of the following devices would be BEST for the developer to buy?

A. Laptop
B. Server
C. Game console
D. Workstation

Answer: B
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NEW QUESTION 66
A technician is installing a new wireless network and wants to secure the wireless network to prevent unauthorized access. Which of the following protocols would
be the MOST secure?

A. WPA
B. SSID
C. WEP
D. WPA2

Answer: D

NEW QUESTION 69
Which of the following is an example of multifactor authentication?

A. Password and passphrase
B. Fingerprint and retina scan
C. Hardware token and smartphone
D. Smart card and PIN

Answer: D

NEW QUESTION 70
Which of the following is a wireless communication that requires devices to be within 6in of each other to transfer information?

A. Infrared
B. NFC
C. Bluetooth
D. WiFi

Answer: B

NEW QUESTION 71
......
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